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Fi2ka e Directions: There are three passages in this part.
— Each passage is followed by five questions or

= unfinished statements. For each of them there are

e four choices marked A), B), C), and D). You should

decide on the best choice and mark the corresponding

letter on the Answer Sheet with a single line through

Eﬁiﬁkiﬁﬁ%’?ﬁ% the center.
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S g2ahE

(23570 297) According to the text, text messaging

~
@ \@4 can be a great tool because
A people like to use it to send New Year
greetings
- T
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